Town: Richmond	Road Name: Snipe	Ireland Road	Date Visited: 5/1	5/2019			
Road Segment IDs: 169102 -	169111 (10 segmer	nts) – Section 2 (two	map pages)				
Project Area	et use frage frage	Existing Condi Field Determin Road Type: Gra Conveyance A improvement, Erosion Types Drainage Culve Driveway Culve	tions ned Slope: 0.5-6% avel Area/Turnout: Mi and Missing Present: Rill and G erts: 4 erts: 0	x of Good, Need Gully			
Municipal Road General Per	mit Standards:	_					
🛨 Meets Standard, Partially Meets Standard (needs work), 🛛 Does Not Meet Standard							
Roadway Crown/Travel Lane	•	Grader Berm/Wind	row	×			
Road Drainage	×	Conveyance Area/T	urnout	×			
Municipal Drainage Culverts	X	Driveway Culverts (within ROW)	×			

Existing Conditions Notes: This section of Snipe Ireland Road is gravel with a well-maintained surface and crown. In most locations water can sheet off the road and only a few short berms will need attention. Many of the existing swales meet the standard. New grass and stone lined swales need to be installed where they are not currently located. A long section of swale will need improvement and either rock lining or installation of a cross culvert to meet the standard for moderate sloped roads. One of the short sections missing swales is exempt because installation would require removal of large trees. Multiple culverts along the section need improvement to correct erosion or size issues including four culverts that will need to be installed.





Photo 1: Short section of road with no swales that **Photo 2:** has a conflice with large trees and is therfore downstream exempt.

Photo 2: Existing undersized culvert and downstream gully erosion.

Proposed Scope of Work

Roadway/Travel Lane Practices

	Improve Road Crown	Adjust Road Grade
Х	Remove Grader Berm	Edge of Road Stabilization/Maintenance

Roadway Drainage Practices

Х	Install New Ditch	Х	Improve Existing Ditch
Х	Side Slope Excavation for New Ditch		

Conveyance/Turnout Practices

Х	X Install Turnout X Stabilize/Improve Existing Turnout		Stabilize/Improve Existing Turnout
Х	Install Sediment Trap		Stone Armor on Bank/Slope
	Install Check Dams in Existing Feature		

Culvert Practices

Х	New Municipal Culvert	Upgrade Municipal Culvert
Х	New Driveway Culvert	Upgrade Driveway Culvert
x	Headwall or Armor at Culvert Inlet/Outlet	Clean Sediment/Debris from Culvert

Estimated Project Costs						
Practice	Units	Unit	Cost	Quantity	٦	Гotal
Improve Road Crown	Linear Foot	\$	5		\$	-
Raise Road Grade	Cubic Yard	\$	30		\$	-
Remove Grader Berm/Lower Shoulder	Linear Foot	\$	5	61	\$	305
Remove Berm with Obstacles	Linear Foot	\$	10	28	\$	280
Edge of Road Stabilization/Maintenance	Linear Foot	\$	8		\$	-
New Stone-Lined Ditch	Linear Foot	\$	25	270	\$	6,750
New Grass-Lined Ditch	Linear Foot	\$	8	600	\$	4,800
Side Slope Excavation for New Ditch	Linear Foot	\$	10	66	\$	660
Improve Existing Ditch (Stone)	Linear Foot	\$	20		\$	-
Improve Existing Ditch (Grass)	Linear Foot	\$	5	483	\$	2,415
Install/Improve Turnout	Each	\$	200	4	\$	800
Install Sediment Trap	Each	\$	750	1	\$	750
Install Stone Armor (Bank/Slope)	Cubic Yard	\$	40		\$	-
Install Check Dam	Each	\$	40		\$	-
New/Upgrade Conveyance Culvert (30")	Each	\$ 2	,500	1	\$	2,500
New/Upgrade Cross-Culvert (18" to 24")	Each	\$1	,500	1	\$	1,500
New/Upgrade Driveway Culvert	Each	\$	750	2	\$	1,500
Install Culvert Headwall/Armor	Each	\$	300	3	\$	900
Remove Sediment/Debris from Culvert	Each	\$	100		\$	-
			T	otal Cost:	\$2	23,160



MUNICIPAL ROAD SEGMENT 169107, 169108, 169109, 169110, & 169111 **RICHMOND, VERMONT**

1 South Main St Waterbury, VT 05676 802-882-8335







HEADER

Rock Apron Specifications						
Culvert Diameter (D)	Riprap Size	T (in.)	N (ft.)	W (ft.)	L (ft.)	
18 inches	(3-12 inch)	18	4.5	14.5	10.0	
24 inches	(3-12 inch)	18	6.0	20.0	14.0	

D= diameter of culvert T= depth of stone in apron N= width of apron near culvert W= width at downhill end of apron L= length of apron





CULVERT CROSS SECTION

ZIMAX. FILL SLOPE



FLOW BYPASS

COUNCILS, NOVEMBER 1995, UPDATED 2002, 2009.







STONE ARMOR (BANK/SLOPE)

- RIRPAP SIZE IS BASED ON QUANTITY AND VELOCITY OF • WATER
- ALWAYS CONTACT A STREAM ALTERNATION ENGINEER . BEFORE INSTALLING RIPRAP AT A STREAM BANK
- USE ANGULAR STONE •
- COVER WITH GRUBBINGS OR TOPSOIL AND SEED. IF ON A STREAM BANK, ONLY APPLY ABOVE ORDINARY HIGH WATER. •
- CONSIDER PLANTING WITH ADDITIONAL VEGETATION ٠

STONE CHECK DAM QUICKLY FLOWING SLOWS \$ MUDDY WATER FILTERS SLOWER CLEANER EPIMENT PARTICLES WATER ETTLE OU



INSPECT ANNUALLY AND AFTER LARGE STORMS ٠ REMOVE ACCUMULATED SEDIMENT WHEN HALF FULL. ٠